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Note :

LINGUISTICS
Paper - 11

This paper contains fifty (50) objective type questions, each question carrying two (2)

marks. Attempt all the questions.

1. Linguists’  interest in  animal “There is an impression that
communication systems has been writing and speaking are
largely fuelled by a desire to compare alternative ways of communicating
such systems with human language in language”. Which of the
(A) in order to show that there is following is true in relation to this

no difference in the two statement ?
systems and both are (A)  And so they are, but it is not
equally effective. important to recognize that

(B) in order to establish only a speech is basic, natural and
link of evolutionary universal, while writing 1is
development. derivative.

(C)  in order to do the analogical (B)  And so they are not, but it is
linguistic analysis of the not important to recognize
animal communication. that speech is basic, natural

(D)  in order to show the differences and universal, while writing
between the two, and often, by is derivative.
implication, to show the (C) And so they are, but it is
superiority of human language important to recognize that
over the  communication speech is basic, natural and
systems of animals. universal, while writing is

) o derivative.

2. Often perceived as individually (D) And they are not, but it is
discrete units, collectively not important to recognize
comprising the equally discrete that speech is basic, natural,
languages of which they are units, are and universal, while writing
(A)  languages (B) dialects is derivative.

(C)  styles (D) registers Assertion(1) : A major

3. Language is result  of historical  and
(A) the actual  utterances comparative linguistic

speakers produce investigation has been t}}e

(B) the bond between the mapping  of the world’s
signified and the signifier languages into families and

(C) the underlying system on sub-groupings ~ within  these
the basis of which speakers families.
are able to understand and Assertion (2)  :  When a
produce speech. given language has been

(D) the store house filled with shown to belong within the
useful and  necessary folds of a particular grouping
information preserving as defined by ~ linguistic
historical accounts. relatlonshlps 1nd1c?;1ng a

common descent from an

4. An item of Vocabulary Wlth a earlier proto_language, it 1is
s1ngle referent whether it consists said to have been classified
of one word or more than one genetically. Select the correct
E’X))rd, 1%‘?3%6(1 from the following :

or (A) (1) istrue, (2) is false.

(B)  Phrase (B) Both (1) and (2) are false.

(C)  Compound morpheme (C) (1) is false, (2) is true.

(D)  Lexeme (D) Both (1) and (2) are true.
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Match the items of List — I with
List — II and select the correct answer
from the codes given below :

List - 1 List — II
(a) Coda (1) Historical
linguistics
(b) Back (i1) Semantics
formation

(c) Componential (iii) Morphology

analysis
(d) Proto (iv) Phonology
language 11
Code :
@ @b © @
A () @Gv) @) @)
B) @ G Gv) (i)
© Gv) @G @ @
D) G @O G 3Gv)
In the sentence “‘Shahid took the
book from Rakesh”, the word 12.
‘from’ indicates
(A) Dative case
(B)  Ablative case
(C) Locative case
(D)  Instrumental case
In Bloomfieldian structural 13.

procedure of grammatical analysis
involving the major division within
a syntactic construction at any
level and analysing into immediate
constituents and further continuing
the process until irreducible
constituents are reached, is called

(A) Tagmemic Analysis
(B)  Systemic Analysis

(C)  Componential Analysis
(D) IC Analysis

Assertion (1) E-language
is different from I-language.

Assertion (2) E-language
is ‘externalized’, consists of
set of sentences, deals with
sentences actually produced —
‘corpora’, describes properties
of data, is concerned with what
people have done.

(A) Both (1) & (2) are true

(B) (1) is false, (2) is true

(C©) (1) is false, (2) is false

(D) (1) is true, (2) is false

Assertion (1) : The
process of assimilation is
phonologically conditioned.

Assertion (2) : The
process of dissimilation is
morphologically conditioned.

(A) Both (1) & (2) are true
(B) Both (1) & (2) are false
(C) (1)istrue and (2) is false
(D) (1) is false and (2) is true

Tense is

(A) an expression of
completion/continuation of
action.

(B) time of an action in absolute
terms.

(C)  not a grammatical category.
(D)  adeictic category.

Arrange the concepts in their
historical order in which they
appeared. Use the codes given
below :

(1) Underlying representation
(i)  Minimal pair

(ii1))  Constraint ranking

(iv)  Grimm’s Law

Codes :

(A) (i), (@), (av), (@)

B) (), (i), (iv), (i1)

©  Gv), (i), (1), (i)

(D) (), (i), (i), (1)
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A () (v Gi) o) T ST EAE |
B) () Gi) (v (i) FoA(2) : FmET W A
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(D) T FRH © NG T R € |
(D)  Hehaareeh SN R |
Wﬂ%%l@%fwﬁwﬁgfami 13. Tef a'szi‘ﬁﬁmmﬁ
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Analysis) (D) (iv), (iii), (ii), (i)
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14.  Assertion (1) : A closed 17. A whisper sound is produced with
syllable has a branching o
rhyme. (A)  vibrating vocal folds
Assertion (2) : A closed (B)  non-vibrating vocal folds
syllable has a complex coda.
(A) (1) is true, but (2) is false (©  closed \Tocal' folds
(B) (1) is false, but (2) is true (D)  partly vibrating vocal folds
(C) Both (1) and (2) are true
(D)  Both (1) and (2) are false 18.  Paradigm is
) o ) (A) a set of items related
15. Match Fhe 1Fems in List — I with the phonetically
items in List — II and select the )
correct code from those given (B) a set of grammatically
below : conditioned forms derived
List T List — I from a single root/stem
(a) Brunch (i) abbreviation (©)  a set of morphemes of the
(b) Cell (ii) blend same class
phone (D) a set of inflectional endings
(c) SPE (i11)) acronym carrying the same meaning
(d) TOEFL (iv) clipping
Codes : 19.  Select the one from the following
@ & (© (@ verbs which takes zero argument :
A O G Qv (i)
A B) sl
®) G (v O G (A) et (B) sleep
D) G av) @ (i)
20.  Match the items in List — I with the
16.  Match the items in List — I with the items in List — II for places of
items in List — II and select the articulation and select the correct
correct code from those given code from those given below :
below List - I List - II
List -1 List — II ) b
(@) f, (1) height of tongue @) t (1)
(® f, (i) front-back & m G
(© f, (1i1) vocal cord © v (i) 1
vibration (d) \% (iv) k
@ f; (iv) lip rounding Codes :
Codes : @ @ () (@
@ & (0 « @A) (v G G 6
A @ @) (1v) ®) Gy v G G
B) (i) (i) () (i) W we
(©) (i) @G 3G (@v) © G @) Gy @)
(D) i) @av) @G @) O O® @ @GQv) (i)
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14. HUF(1) : SFSHA R & IR 17. TAFURe @ HefarEd &
TAIEAE | ST EAE
HAT(2) : HASHIT R H See (A) FERier wRaArET
HIET (3F) FAE | (B)  IR-sFeiet WAt
(A) (1) &, T (2) FAE | © <
(B) (1) AT, W (2) TAE | . :
(©) (1)IARQ) I TAE | D) %W N
(D) (1) 3R (2) T @A E |
5. HoIRw e nRwEs | 18 T |
T gafer HewE AR A we @ (A) @EH® T ¥ FEd 911 h
&I ST 1 T Y TEE |
LU | T - 11 (B)  Ushdl Hel/4Tq § o= ARG
(a) Brunch (i) & ST i P AT |
(b) TARH (i) WIS (C) U GOH O % R HTEE |
(c) SPE (iii) IRaoT v/ (D) U & Y & fofad wedl
(d) TOEFL (iv) e YEE |
e
(a) (b) (©) (d) 19. {7ifed Topameti § 9 SHH 98T HY
A G G Gy (i) Toerenl 9= Ffere gt @ -
(B) (i)  (iv) ) (i) (A) @ (B) &M
(G Gv) (i) (i) () (C) @wigAr (D) frem
(D) (i) (iv) (1 (iii)
16, oA A | ﬁggﬁﬁg@g:
e i e MR
a1 "F"’f—ll Tl -1 et - 11
@ f, () S oS (@) t ® b
b f, (i) e ® w ™
© £, (i) TRohHE EZ)) z 213 f{
@ f; (iv) IS —
B @ ® © @
@ ® © @ (A (v Gi) G @)
A G G @) 3v) B) (i) Gv) @ (i)
G ) @ 3G (>4v) D) () G (Gv) (i)
(D) (i) (@v) @G (D)
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21.

22,

23.

24.

Noun can be defined in terms of

structure, meaning and function.

Select the functional aspect of a

noun from the following :

(A) Noun occurs with gender
and number markers.

(B) Noun occurs as subject or
object.

(C) Noun occurs with case
markers and prepositions.

(D) Noun occurs with
representative  objects or
ideas.

In the sentence “The boy in blue
jeans met an young lady”, the
phrase “in blue jeans” functions as
(A) Preposition

(B) Noun

(C)  Adjunct

(D) Complement

Assertion (1) : Prepositional
phrases occur with verbs and
serve as qualifiers of verbs.

Assertion (2) : Prepositional
phrases always function as verbs.

(A) (1) and (2) are true

(B) (1) and (2) are false

(C) (1) istrue, (2)is false

(D) (1) 1is false, (2) is true

Match the items in List — I with the
items in List — I and select the
correct code from those given below :

List -1 List — II
(a) Competence : (i) Ferdinand
Performance de Saussure
(b) Langue (i1) K. L. Pike
Parole
(c) emic : etic (ii1) C.F.
Hockett
(d) Displacement (iv) Noam
Duality of Chomsky
Patterning
Codes :

@ b (© (@
A @ Gy 3G (31v)
B) Gv) @ () (i)
© Gy (@) @Gv) @
D) @) Gv) (@H ()

25.  Match the items in List — I with the
items in List — II and select the
correct code from those given below :

List - 1 List - 11

(@) John will (i) Clefting
meet Mary

(b) John’s (i) Complementation
meeting
Mary

(c) John to (iii)) Nominalization
meet Mary

(d) Mary, (iv) Declarative
whom John Sentence
will meet

Codes :

@ ® (© (@

@ ® @@ 3G) o Gv)

B) G @ (Gv) ()

(© Gv) @G @G @

D) @) Gv) @ G
26. Based on the tree, choose the
correct option from those given

below :
S
N
NP, VP
AN AN

D N V NP,

I S

my mother metD2 N,
| I

my father
NP, C-commands
(A D, N,
(B) only VP

(C) only VP, V, NP,
(D) only VP, V,NP,, D,, N,

27. “One knows a word by the
company that it keeps”(J.R. Firth).
“The meaning of a word is its use
in the language” (L. Wittgenstein)
The above statements largely refer to
(A) The context of a word
determines its meaning

(B) The word determines its
meaning

(C) Reference of a word
determines its meaning

(D) No one knows who
determines meaning of a
word

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




21.

22,

23.

24.

T 1 T, 7Y AR UHE & Y
o i fomam T weRar © | TR

T G o TS Tge] T T

(A) G form 3R g foeeht &
Y A |

(B) W el 3R hH o ®9 H 37l &

(C)  HaM HRF Togahi IR 7@ Tt
o T A |

(D) G WA wEr A1 faERt %
Y A |

fTHfeiiad ae “The boy in blue
jeans met an young lady”, ® SUaTeRI
‘in blue jeans’ foFTehT T AT & ?
(A) SuEE  (B) WH

(C) s (D) foreremed =

HAA (1) : SUSNT YA foRaATeS
% WY I € SR TRatem &
ool & TU G P A & |

HAT(2) : IUWMT YA gHIW

fFameli s T HRI A & |

(1) 3R (2) I T E |

(1) 3R (2) I @A E |
(C) (1) T 3R (2) AT |
(D) (1) FTTAE 3R (2) TAE |

gEr — I ot T8T 1 Gt — 11t 7]1 6
T gHfera ifsrr AR T 53 el @
ISR T
et - I e - 11
(a) T &WAT: (i) WSS T
T SHBR &R
(b) ©M: WA (i) .U UZH
(c) Ul :ufesh (iii) EN.UF. €ohe
(d) To=m™=:  (iv) AW 9Eh
ST
e

(A)
(B)

B :
(@ @b (© @

@A @ Gy 3G o (3Gv)
B) Gv) @ Gy (i)
© Gy (@) 3Gv) @)
D) @) Gv) (@H ()

25.

26.

27.
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T — 1 1 a1 o e G — 1 i
5 gfer AT 3 A e
(a) John
(i) Ryt
meeting Mary
(d) Mary, whom (iv) =SUTHE

T T I T I
T -1 et — 11
will (i) wifgeT

meet Mary

(b) John’s

(c) John to meet (iii) FTHERIHOT
Mary
John will meet

EIE)
He

@ ®  (© (@
A () G) @) (iv)
B) G) (@) (Gv) (D)

© Gv) @y @G @
(D) (i) (Gv) @ (D)
FING & ER W, Ffered §
e oo ol =TT o ;
S

NP, T VP

s s

D, N, V NP,

U I
my mother metD2 N,

my father
NP, C — SHIUE AT &
(A) D, N,
(B) FaeT VP

(C) el VP, V, NP,
(D) @& VP, V,NP,, D,, N,
“9Te3 o 3Tk WIETA/TIT & 3TMER T

ST SATE 1 — (. 3TR.F)
“gTeg T 3T AT H IHH! STAM € |7

— (Tet. Tt )
FHIA A AR R FAfrad

Hhd HA e

(A) % I G 3GHT 31 i
AT |

(B) 91 1o 31 feia e &

(C) = H Sooid IHPT Y
Frefe e & |

(D) g &l ST T 915 1 31
S R T & |



28.  Match the items in List — I with the 31.  The order of development in the

items in List — I and select the writing system is as follows :
lc)oi”rect code from those given (A) (i) Alphabetic type
elow :
List - I List — II (i) Syllabic type
(a) Triangular (i) L. Wittge- (iif) Logographic type
theory nstein (iv) Pictographic type
(b) Interpretive (ii) Alston &
theory Searle B . Svllabi
(c) Game (iii) Ogdon & (B) () Syllabic type
theory Richard (i) Logographic type
(d) Speech act (iv) Katz & (i11)) Pictographic type
Codetshf:ory Fodor (iv) Alphabetic type
@ @b © @ . : :
B) G G >{i)  (iv) (i) Logographic type
(©) @iy @Gv) (D) (i1) (i) Syllabic type
D) G @ (Gv) (i) (iv) Alphabetic type

29. Assertion (1) : Principles are

important in GB, where it has (D) ()  Logographic type

been suggested that there are (i1)  Pictographic type
no rules in the traditional (i) Alphabetic type
sense, but only principles ] )

which can take a slightly (iv)  Syllabic type
different form in different

languages. 32.  Cognates are

Assertion (2) : A specification
of the range of forms that a
principle can take is known as

(A) The words occurring in
languages belonging to

PARAMETER. different language families.
(A) (1) is false, (2) is true (B) Phonet‘ically ‘similar words
(B) (1) is true, (2) is false occurring m languages

belonging to  different

(C©) (1) 1s false, (2) is false language familics.

(D) (1) is true, (2) is true i .

(C)  Phonetically, semantically
identical words occurring in
languages belonging to
different language families.

30.  If your father says to you “There is
a man at the door” that utterance

(A) Presgp poses (D)  Words similar in sound and
(B) Implies in meaning occurring in
(C©)  Contradicts genetically related
(D)  Paraphrases languages.
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28. A — I ! TET I g — 1 1 H/ET ok 3. @9 yomelt H fge @ W
1o Aferd X 3R A 52 g I W@ freferfaa & -
ERAEZICEREDE (A) () S TR
T -1 T - 11 (i) onERe R
(a) Tl (i) Uel
3 N A (i) wFTTES (1 Foe)
by FEmE (i) seReE e
®) fT @) e (iv) To=eiEa geR
(c) BafEgr (i) 3freq ws
e (B) (i) 3R UPR
(d) IFATUR (iv) T TS (i) 9% e uehR
e HER (iii) fesreiETa TR
BT (iv) STafTH HHR
@ @ (© (@
(A) Gv) (@) @) (@D .
® O G Gi) G © O FEE
© Gi) (v D) () (if) 7% et T
(D) (i) @G (v) (i) (iii) ~ STEINH TR
(iv) TS FHR
29. %A (1) : GB H fugra qewyol €,
STl T aqE T ¢ {6 uREie .
™ § wE AW W O§ W ®) (1) I e s
TogT &t & i fo= wrenedi 7 e (ii) TeereE TR
TR ETAGHRAE | (iii) SIS THR
%A (2) : oG ST ®T o Teha & (iv) =TeIRe TR
37 BUI T TH ht {areredr o
ITaeT el ST 8 |
(A) (1) IEIE, (2) §AR | 2. WG
B) (1)TAE, (2) Faa | (4) ﬁggﬂgﬁﬁwaﬁﬁ
(C) (1) 3TTAE, (2) 3[AT | ®) ot o st 3
D) (1) FAE, (2) Az | 3T ITET W ©7 § T FAA
IKE |
30. g 3oeh fudn UeR wed @ CgTerst (©  formr s SR i e
TR A 8, O 98 TR T et T T, S
(A) T FTEE FIATE | T THF K E |
(B) F (D) S & & R s 6
(C) foRem e | M I UH §AE @ 3R
(D) UEATATHEATE | MM FHIRE |
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33.  The Sanskrit word patr ‘leaf’ 38. A true understanding of the nature
becomes Patta in Hindi. It is the of relationship among  the
case of languages did not come until the
(A) Dissimilation early part of the nineteenth
(B)  Metathesis century. The person who is
(C)  Epenthesis credited with the first and clearest
(D)  Assimilation statement concerning the

relationships between Greek, Latin

34.  Split and merger are and Sanskrit is
(A)  Syntagmatic Sound changes (A) Filippo Sasetti
(B)  Paradigmatic, Phonological (B)  Leibnitz

Sound changes (C)  Sir William Jones
(C)  Paradigmatic Sound change (D)  Ferdinand de Saussure
(D)  Syntagmatic, Phonological )
Sound changes 39. The unmarked word order found in
Dravidian and Indo  Aryan

35. Infixes are found in the languages languages is
belonging to the (A) SVO (B) SOV
language family. (© OSV (D) OVS
(A)  Dravidian 40. Grimm, Verner and Grassmann
(B)  Indo Aryan have observed the phonetic
(©) Munda changes which have taken place
(D)  Tibeto Burman between Proto Indo European stage

. o . and the Germanic languages. They

36. Match ‘the 1‘tems in List — I with the are given in the form of phonetic
items in List — I and select the laws.
correct code from those given (A)  Grimm, Grassmann, Verner
below : ] ] (B)  Grimm, Verner, Grassmann

List -1 st — 11 (C)  Verner, Grassmann, Grimm
(2) Dravidian S (D) Verner, Grimm, Gr;lssmann
(b) Indo Aryan  (ii) Gondi ’ ’
(¢) Munda (i11) Savara 41. The results or effects that are
(d) Tibeto (iv) Newari produced by means of saying

Burman constitute
Codes : (A)  Locutionary Act

@ @ (© (@ (B)  Perlocutionary Act
(A () @) Q) () (C) Illocutionary Act
B) () (i) Gv) (i) (D)  Speech Act
© @ G () (Gv) .
(D) (i) (v) (i) () 42. The grammatical syllabus

(A) lays no emphasis on

37. The first Dialect Atlas was structure
prepared by (B) lays emphasis on structure
(A)  George Wenker (C) lays emphasis on the
(B)  Jules Gillieron grammar of the learner
(C)  Mcintosch (D) lays on the universal
(D) Hans Kurath grammar
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33, WA UK U ‘leaf” &Y W Ul o9 38.  TTR o WX W i Ui oh IR H
ST | FE FeteAiEd o qHen e 9 SIGEl YAl % RS
(A) @oEE AT ek &l 3 Al | Uik, dfeT 3R
(B)  @vi/eat fauda TGP & g T % I H Teell 3R
(C) < |i=awT Tag e [T 37 1 9 fohg At
(D)  THERT & ez ST g ?
(A)  Tferar @@=t
34. foged 3R fooma e I
(A) TaaTEsRATCHS S gRed PS—
(B) TUECANE, W@HMEE © = ém
Sitern) (D) &S T TER
(C) SUEANTd & URee ) .
(D)  foraresharens, @i @i 39. 5 SR TSI S SIS F W A
S, AT ATafeTd 91eg Y &
(A) SVO (B) SOV
35. U U9 ARG 9o GRER s (C) OSV (D) OVS
TS H U™ S #
(A) FfEs (B) et 3w 40. T, R R TR T T WREE
(C) Her (D) oot a7 AT 3R SHT URAR T 9TreT &
e Wk gadH] ol <@ | 9 @i
36. e — 1 Bl HRT BT el — I 1 AT T T RA T E |
jﬁiwwﬁsﬂ?%ﬁﬁwﬁw (A) o, e, &
?Fﬁ—l' o1 (B) fmm, o, urea
(a) sfae () foelt (©) =R, W, o
b) FTaE (i) T (D) =R, for, o
(c) Her (iii) FERT
(d) fasdtsdT  (iv) Jarer 41. FB4 & ZR SO UNOME AT U9
FT : fruifed et &
@ ® © @ (A) = AR (AR i)
(A @) (@ [  @Gv) AR
B) @® @G (Gv) (i) ® y Q;aa
© @ G G (i) (©)  FIERR
(D) (i) (@iv) @) (@) (D) dreEmR
37.  UEH Siel Tord MHEeiiad o §RT aar) T s M
ifiiﬁw (A) TR AR A
®) <P ke (B) MW SRIAE |
(C) fameter (C)  Tomemell & AU W SR A€ |
(D) FEIE (D)  HEHifHeh AT W SR ST |
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43. The way a person -categorizes 47. Suggestopedia is a
himself/herself in relation to an (A)  major type of encyclopedia
1dent1f1§ble social group suc'h' as (B) method suggesting ways of
the nation state, gender, ethnicity, ) ) )
ool practice drills in
class or profession is it
(A)  Social identity pronunciation
(B) Religious identity (©)  method  of  language
(C) Linguistic identity teaching o
(D)  Regional identity (D) method  of  achieving
44 . h concentration and focus for
- A variety of lgnguage used b.y the learning a foreign/second
people belonging to a particular 1
) . anguage.
social class is
(A) Register
(B)  Sociolect 48. A test that is designed to provide
(C) Idiolect information about L, learner’s
(D)  Regional Dialect strength and weakness is known as
45.  Match the following : (A)  Diagnostic test
List = I List — II (B)  Achievement test
(i) Noam (a) Critical (C)  Aptitude test
Chomsky period (D)  Proficiency test
hypothesis
(if) Stephen (b) Language 49. An error which results from
Krashen faculty 1 .
} anguage transfer is
(ii1) C.F. (c) Monitor A Intrali 1
Hocket hypothesis (A) ntra ?ngua error
(iv) E.H. (d) Design (B)  Interlingual error
Lenneberg feature (€)  Mistake
Codes : (D) Lapses
@ ® © @
(A) (_1_1‘) (1‘1_1) (W) (1) 50. Assertion (1): The grammar
B) Gi) G @O 3Gv) translation method developed
© Gv) Gi) @ (D) in US after the World War II
D) G @O G () and spread all over the world.
46.  Assertion (1) : The goal of Assertion (2) :  The method
translation is to establish a involved grammatical
relation of equivalence of explanation of key structures,
intent between the source and the teaching of selected area
target text. of vocabulary and exercises
Assertion (2) : The word involving the translation of
‘translation”  etymologically disconnected sentences into
means ‘carrying across’ or the mother tongue.
‘bringing across’. (A) (1) is false, (2) is true.
(A) (1) s false, (2) is true (B) (1) s true, (2) is false.
(B) (1) istrue, (2) is false C Both (1) and (2 fal
(C) Both (1) and (2) are true © oth (1) and (2) are false.
(D) Both (1) and (2) are false (D) Both (1) and (2) are true.
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43. 9 @ ¥ A hng awie a9 47. TEEOfEATE
S o g o, e, e, i A) T o ot fagareni
ST, 3 e T Ay o A, o = o
R a— (B) S=RU H AE FAEE h
(B) i e Tk e =l fafy
(C) TRl SR (C) T 37T i feifer
(D) & WEwr (D) Frehfed vy des & fd
THAT 3R B U i i
44, ToRIY GMEITSTH o & AN §RT SUE fafer
I ST STl AT B o &
(&) 48, L, Tl o v s i 5
(B) TS St 27 .
(©) =R TN H TEHR TGH FH o ford fesme
(D) &ﬁhaﬁ?ﬁ IERIRICIRT &7 chgcdld %
(A) IR TRIeToT
45. ﬁ?ﬁ%ﬁﬁﬁiﬁﬁﬁﬁﬁﬁ;} . (B)  Swied qliemmr
() A (a) WHI<eh A © et
B[==a iR (D)  WIUTAT GRIeToT
(i) VHT  (b) T IHEE
R 49. T IR W T A A FEE §
(iii) ?@SS (c) W UReHedT A) oo 5
(iv) Twa.  (d) fesres (B) iRy Fie
[GECn) SATTCARTT (C)  TeAdt
®: (D) TEeH
(a) (b) © (d
(A) (D (1ii) (iv) )
(B) (i) (i) 0] (iv) 50. ®uA(1) : fovag g I & wvEl
© Gv) (@) 0] (i) g, | foshiad 3R gae fava |
(D) (b 0] (1ii) (iv) Al SATHT SIS TF 1T |
46. HAA(1) : R F A AT 3R HYT (2) : USd H G TS
T s % A wed # SATRONT TR, IISETTAT
T T T T AT & | TG E H S SR
FUA(2) : IR UK H ORI ST A hAGAE H
T Y I ¢ YR A STHET AT AR A AR W LI FHAES T € |
M | (A) (1) A E, (2) TAE |
(A) (I)WF?, (2)w§| (B) (1) WXL, (2) AL |
B) (1)TEE, (2) WAL | : :
©) (1) 3R (2) 3 w=TE | © (1)@1(2)@341@%
D) (1) 3R (2) 2 ¥ | D) (1) ¥R () T FAE |
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